Best model for HELP_J142850.086+353432.583 at z = 1.533 x2=1.31

Flux [m])y]
'_I

Relative residual flux,.

OPTx?=1.35 IRx?=1.58 threshold (OPT IR)=20.26 [um]

102 _ Stellar attenuated
1 Stellar unattenuated
] —— Dust emission
1 —— AGN emission
10 = Model spectrum
E ® Model fluxes
| M Observed fluxes
100 -
0—1 4
E (v‘.'f""""‘ﬂ“ :
';“;’.\Mw«,,v._.' . :
i .
072 4 NS
073 -
04 1
1
1 =f= (Obs-Mod)/Obs
0 1= ANTRE A = i emmr—— e = e ] e b ———
-1 T

10° 10! 102 103 104 10° @ A

Observed wavelength [um]

CIGALE



